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.This paper contains FIFTY (50) multiple-choice assertion/reasoning/
matching questions, each question carrying TWO (2) marks. Attempt All

the questions.
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Which one of the following is not
declared as ‘basic structure’ of the
Constitution ?

(A) Independence of judiciary
(B) Secularism

(C) Separation of powers

(D) Fundamental right to property

9. Which of the following cases is
popularly known as ‘Mandal
Case” ?

(A) Ashok Kumar Thakur V. State
of Bihar

(B) TMA Pai Foundation V. Union
of India

(C) Indira Sawhney V. Union of
India

(D) None of the above
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A national emergency under Article
352(1) cannot be proclaimed on the
ground of :

(A) War

(B) External Aggression

(C) Armed Rebellion

(D) Internal Disturbance

Which of the following can claim
fundamental right to property ?
(A) All citizens of India

(B) Corporations
(C) Minority

In stitutiﬂr_ns

Educational

(D) Minorities

The traditional concept of Equality

was based on the doctrine of

reasonable classification. However,

in which case did the Sﬁpreme

Court lay down a new concept of

Equality that it is the anti-thesis of

arbitrariness ?

(A) E.P. Royappa V. State of
Tamil Nadu

(B) Maneka Gandhi V. Union of
India

(C) Ajay Hasia V. Khalid Mujib

(D) Air India V. Nargesh Meerza
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In which of the following decisions,

has the Supreme Court declined to

give any opinion under Article

143(1) of the Constitution ?

(A) Gujrat Assembly Election
Matter

(B) Re In the matter of Cauvery
Water Disputes Tribunal

(C) Re In the matter of Ram
Janmabhoomi

(D) In re Berubari

Which one of the following

statements is incorrect ?

(A) Writ of Mandamus cannot be
issued to the legislature to enact
a particular legislation

(B) Writ of Mandamus can be
issued to the state to bring into
effect an Act passed by the
legislature

(C) Writ of Mandamus cannot be
igsued to reinstate a dismissed
employee, in the absence of
statutory provision to that
effect

(D) The High Court has no
jurisdiction to issue Writ of
Mandamus commanding the
State Government to appoint
the persons recommended by
the High Court
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.......... said, “Possession is Nine
” Points of Law.”

(A) Henry Maine

(B) Roscoe Pound

(C) Austin

(D) Salmond

The type of ownership that allows

for the separation of the powers of

management and the rights of

enjoyment is called as :

(A) Trust

(B) Sole ownership

(C) Co-ownership

(D) Equitable ownership

10. Match the following :

(1) Ihering (i) Impactoflawson
society

(2) Ehrlich (i) Social origins of
law and legal
institutions

(3) Roscoe (i) Social criterion

Pound of validity of

laws

(4) Duguit (iv) The task of laws
in the society

(A) (1)-(id), (2)-(z), (3)-(iv), (4)-(iii)

(B) (1)-(2), (2)-(ig), (3)-(2iD); (4)-(iv)

(C) (1)-(a), (2)-(Gid), (3)-(i), (4)-(iv)

(D) (1)-(iv), (2)-(éir), (3)-(iD), (4)~(i)
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11. A right to make a will is which form
of Right ?
(A) Liberty
(B) Immunity
(C) Duty
(D) Power

12. The rights of an unborn person

(A) Direct
(B) Immediate
(C) Contingent
(D) Adv;arse

13. Custom is a long practice operating
as a source of ... , whereas
prescription as a long practice
operating as a source of ............
(A) Rights, Law
(B) Rights, Duties
(C) Law, Rights

(D) Rights, Property
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14. In accordance with the provisions

15.

of the UN Charter, which of the

following authorities is authorised

to determine whether there exists

any threat to peace, breach of peace

or an act of aggression ?

(A) The General Assembly

(B) The Military Staff Committee

(C) The Secretariat

(I)) The Security Counecil

Which of the following does not

constitute one of the purposes of the

United Nations ?

(A) To maintain peace and security

(B) Sovereign equality of the
members of United Nations

(C) To develop friendly relations

(D) To

achieve international

cooperation in  solving
international problems of

economic, social, cultural and

humanitarian character
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17.

16. As per prevailing state practices and

essential norms of international law,

the resolutions of the General

Assembly :

(A) are binding on member states

(B) do not possess legal character

(C) are recognised as one of the
sources of international law
under Article 36(1) of the
Statute of I1CJ

(D) are considered as direct source
of international law

‘Recognition is declaratory of the

fact of statehood in the conventional

way. On such a declaration of the

statehood, recognition is

constitutive of certain legal

consequences’, who said this ?

(A) Kelsen

(B) Lanterpacht

(C) Oppenheim

(D) Starke
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18. The statute of International Court
of Justice through its Article 38(a)
lays down a direction to apply the
sources in the following order, while
rendering a ‘judgement’ :

(A) International treaties,
international customs, works
of jurists and judicial
decisions

(B) Customs, judicial decisions,
treaties and works of
Jurists

(C) Judicial decisions, general
principles of law, works of
Jurists and treaties

(D) International treaties,
international customs, general
principles of law, judicial
decisions and works of

jurists

Law-II 10
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19. Assertion (A) : General Assembly

20.

resolutions may sometimes have

formative value.

Reasons (R) : In appropriate

cases, the General Assembly

resolutions constitute evidence of
opinio juris.

Choose the correct option :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

The Supreme Court has held that

mother can be a natural guardian

in the presence of father, in case
of :

(A) Vishaka

(B) Gita Hariharan

(C) Mangala Prasad

(D) Sarla Mudgal
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21. Marriage under Hindu Marriage

22.

23.

Act, 1955 between persons within

sapinda relationship is :

(A) Valid

(B) Voidable

(C) Void

(D) Irregular

The verdict of Supreme Court in

Ashok Huara V. Rupa Bipin Zaveri

AIR 1997 8.C. 1266 is on :

{A) Divorece by mutual consent

(B) Restitution of conjugal rights

(C) Adoption

(D) Desertion as a ground of
divoree

Dower in Muslim law is :

(f) Dowry

(i1) An obligation imposed upon
husband as mark of respect for
wife

(i) sale price of woman

(iv) consideration for marriage

Select the correct option :

(A) (2), (itf) and (iv)

(B) (i) and (iii)

(C) (i) and (iv)

(D) (¢) and (F)
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24,

Which of the following is not

true ?

(A)

(B)

(C)

(D)

Law-II

A wife of a void marriage
cannot claim maintenance
under 8. 125 Cr. PC.

A wife of a voidable marriage
can claim maintenance under
S. 126 Cr. PC.

The parties to a void marriage
way perform another marriage
without getting a decree
declaring their marriage as
void

The parties to a void marriage
cannot perform another
marriage without getting a

decree declaring their marriage

as void
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25. Choose the incorrect statement -

26.

(A)

(B)

(C)

(D)

The children of annulled

voidable marriage are
legitimate

The children of void marriages
whether declared void or not,
are legitimate

The children of only those
marriages which are declared
void under Section 11 of the
Hindu Marriage Act are
legitimate

If the marriage is void for lack
of proper ceremonies, then also

the children of such marriage

are legitimate

Restitution will not be granted in

case of contracts :

(A)

Illegal as well as void

(B) Void

(C)

Illegal and hence void

(D) Voidable
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27.

29.

X' borrowed money from Y to hire

assassin to kill Mr. A. The

agreement between X and Y is :

(A) illegal hence void

(B) opposed to public policy hence
void

(C) voidable

(D) valid

Effect of “commercial hardship”

makes the contract :

(A) unaffected

(B) void

(C) voidable at the option of the
party facing such hardship

(D) results into frustration of
contract herlme void

When a minor is supplied with

necessaries of life, the supplier :

(A) cannot recover the price

(B) can file a criminal case

(C) can recover the price

(D) can recover the price from the

property of a minor
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30. Consideration must be of some

31.

32.

value, but need not be :

(A) Inadequate

(B) Minimum

(C) Adequate

(D) Maximum

Doctrine of frustration comes into

play :

{A) When both the parties are
frustrated

(B) When either of the parties is
frustrated

(C) When the object has failed

(D) When there is commercial
hardship

Omission to do some act when there

is an obligation to perform, is called

as :

{A) Malfeasance

(B) Misfeasance

(C) Nonfeasance

(D} None of the above

Law-I1
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33. Which one of the following is treated
as modern and more appropriate
test for deciding master-servant
relationship for arriving at vicarious
liability ?

(A) Control rule

(B) Hire and fire rule
(C) Chance of profit rule
(D) Risk of loss rule

34. Damages in case of absolute liability

may be decided on the basis

of :

(A) Actual loss

(B) Probable loss

(C) Nominal loss

(D) Deep pocket theory

]
bl |

Choose the correct option :

(A) Tort is a civil wrong and all
civil wrongs are torts

(B) Tort is a civil injury though
punitive in nature

(C) Tort is a civil wrong but not all
civil wrongs are torts

(D) There cannot be a tort without

malice

Law-I1
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36. Tortious liability is based on : 36.

(A) Common law
(B) Act of Parliament
(C) Damage suffered

(D) Consent of the parties

37. The rule of strict liability is  37.

applicable when the damage is
caused due to :

(A) Act of stranger

(B) Act of God

(C) Natural use of land

(D) Escape of dangerous things

38. Match the following and choose the 38,

correct option :

(@) Section 364-A (@ 1983
(b) Section 498-A (iz) 1993
(c) Section 481-489 (ii) 1999
(d) Section 304-B (fv) 1986

(A) (a@)-(id), (b)), (e)(iiD), (d)-(iv)

(B) (b)-Gi), (@)-(2), (c)-(iv), (d)-(iii)
(d)-(iv), (c)-(8), (b)-(iiz), (a)-(ii)

(c)-(z), (b)-(iv), (d)-(iiL), (a)-(ii)

(C)
(D)
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39.

40.

41.

The law relating to grave and

sudden provocation was laid down

by Supreme Court in :

(A) KM Nanavati V. State of
Maharashtra

(B) R. V. Govinda

(C) Basdev V. State of Punjab

(D) Tukaram V. State of
Maharashtra

The following are punished in the

offence of adultery, under the

Indian Penal Code :

(A) The man only

(B) The woman only

(C) Both the man and the woman

(D) None of the above

Defence of Insanity under Section

84 of the Indian Penal Code

requires :

(A) Unsoundness of mind of any
kind

(B) Legal insanity

(C) Medical insanity

(D) Moral insanity

Law-I1
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39.

40.

41,

waAs A diefly Geireldl siuel

Gay ~qilad sul 3wl syl

B 7

(A) 5.2, -weunadl (&, Hsing
UATY

(B) 2. [A. suldel

(C) oumed [Q. dAe Uy

(D) dsid (A, Hslg ANy

alecdly €5 AlBdl dsm MR-

oprttii Aiell siA A WA B 7

(A) Al YA

(B) izt el

(C) Y™ wiA wfl oA

(D) GuHidl s e

aicle €5 ARl san ¢x dsm

aisue-l e

(A) 5165 vt wsR -l HARLs adl
Hial &

(B) sl HtifABAd Hidl &

(C) albiell alisus Hidl &

D) ARs disust i &

[P.T.O.]




42,

43.

(i)

(i)

{£if)

(iv)

Nothing is an offence which is
committed by the child below the
age of :

(A) 9 years

(B) 7 years

(C) 5 years

(D) 12 years

Match the following and choose the

correct option :

Common () Gopal Vinayak Godse
intention V. State of
Maharashtra AIR
1961 5.C. 600
Fraudulently (h) Dr. Vimla V. Delhi
Administration ATR
1963 5.C. 1572
Conspiracy (e) Israr V., State of UP
AIR 20056 5.C. 249
Life {d) State of Tamil Nadu
imprisonment V. Nalini and others

AIR 199 S.C. 2640
(A) (2)-(e), (ei)-(b), (Ei)-(d), (iv)-(a)
(B) (ii)-(e), (2)-(b), (GiD)-(d), (iv)-(a)
(C) (iw)-(b), (iti)-(d), (ii)-(e), (D)-(a)
(D) ()-(e), (i)d), (iii)-(e), (iv)-(d)

Law-II
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43.

(@)

(i)

(€L}

{tw)

sedl avef] ld-u ouad 53¢ su W

AL el ?

(A) ¢ ¥

(B) @ ax

(C) u oy

(D) 12 o9y

(Al ASE 27 WAl [QAseu e

531

ALHIY @ e [@ruus

HUEL s (A Haing
AUXY AIR 4¢54
WA H{l. 600

£ 26U ® Sl. Ryal [@A.
[teel 2isH[+H-
Rud AIR 1¢53
wy, dl. 1uez

sl9d3, @ S [@. y .
%Y AIR 00y
Wy Al we

WAt J @ dBa-dlg ey
(&, -l 2
oflonxii AIR
Uz vy Al
15¥0

(A) (i)-le), (z)-(B), (itD)-(d), (iv)-(a)
(B) (ii)-(c), (i)-(b), (iit)(d), (iv)-(a)
(C) ()-(d), (iii)-(d), (ii)-(e), (i)-(a)
(D) ()-la), (G)-(b), ({i)-(c), (iv)-(d)




44, sk of vubiective and ohiect ” :
The test of subjective and objective o5 0y ¢e 2Rl se 300(3) R4

elements necessary to determine the

culpability of an accused under AR ruledl 54l s3aL el

Section 300(3) of IPC has been laid B e wa RvaFeedl s:idl su

down in :

Hi vigendi 2udl 8 7
(A) KM Nanavati V. State of 54 L

Maharashtra (A) k.34, suadl [, wsiing
(B) Kapur Singh V. State of
1Y
Punjab
(C) Hari Shankar V. State of (B) syrfEa (&, oot %y
Rajasthan

() wl2eisy [A. i Uxrd
(D) Virsa Singh V. State of

Punjab D) [Agar Fa [, dosr 2wy

45. When two or more persons, by 45, vl 4 3 asl ay caldd a3

fighting in a publie pl disturb the N . . £
ghtng mn & public place & 2010 a4sts 531 a2 wil oot 53 culd

public peace, they are said to have

el
committed :

(A) slaay s sdal
(A) Conspiracy

(B) ¥vllel sedid

(B) Riot
(C) Affray (C) oSl se<ud
(D) Sedition (D) Uxals s4l sdaly

Law-II 21 [P.T.O.]




46, Strike is a legitimate right in the

47.

hands of :

(A) The employer

(B) Workman

(C) Both (A) and (B)

(D) None of the above

An industrial dispute may be
brought before the Labour Court :
(A) By an aggrieved party

(B) By employer as well as
employee

By both the parties with prior
permission from the Govt.

(C)
(D) By reference by an appropriate
Govt.

The International Confederation of

Free Trade Union enumerated

objects of the Union in collective

bargaining for the reasons :

(A) To establish and build up
Union recognition as an
authority in the work place

(B) To raise workers’ standards of

living and win better share in

company’s profit

(C) To express in practical terms
the workers desire to be treated
with due respect to achieve
democratic participation in
decision affecting their working
conditions

(D) All of the above

Law-II

46.

47.

48.

SSAll 2 Sidl sividl @5 & 7

(A) HUlas

(B) 5IM&LR

(C) (A) 21 (B) o

(D) Gu-unigl »is wa <l

SIS A5 YL BEldd wME

atdl i 8 :

(A) ualBd yas2 gl

(B) Mulas dxw sl gzt

(C) etedl yd o1l ol yasii
gLl

(D) Yidy U1 353y 5¢1A

idTUbZlY Ysd SIMELR LA

A8 s el 2idi-L el GRal

sy weuel 8 7

(A) Aurll dlsdld s @a 4R
wUd s34l w4 gsal

(B) $1Melzld @a- aize Gl algal

dal sl aqld WL el day

stHelRirl @adl sl wdiui

du-l H291 2 dudl yrdl e

Aiel adal sl eaze »i3)

disagl ewalletzl Pld [FAoefy

ddld o M2

(C)

(D) GUI~l &1L o




49.

50,

The following is invariably

occasioned by economic and trade

reasons :

(A) Lay-off

(B) Lock-out

(C) Retrenchment

(D) None of the above

In which case Allahabad High Court

held that Kanpur Zoological Park

is an “industry” under Section 2(j)

of the Industrial Disputes Act,

1947 ?

(A) State of U.P. V. Jaipal Singh
and others

(B) State of U.P. V. Prakash Singh
and others

(C) Union of India V. Jai Narainl
Singh

(D} U.P.S.R.T.C. Kanpur V. State

of U.P.

49.

50.

Al izl »lkls wHd cwlis

sLBM AlssA3Y A © -

(A) & »lis

(B) cuousiel

(C) esesll

(D) GuzHidl s ua <8

siiyR pdimsa ws il

A& 2LRIAL S1UEL, 1w -l san 2 (%)

S50 ‘Gelldl’ B dd valslole sifsie

sUL 3HHL oy 7

(A) e iis y.dl. [ wywadle v
oflon il

(B) 2 wis 3.l (&, usiuadle w4
oflotl

€ yFud iz Shsut [,

AR IYARIY

M) y. . 20220l sy @A

e syl
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